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151 & Q1
5 H By 2020.1.8
202001018 202001018 202001018
Ql-1 Ql-2 Ql1-3
AR m 100
KAE Pa 102900 102900 102900
A1 785 T m? 7.0686
A 18 51 51 51
SR m/s 12.3 12.4 12.4
RS Nm?/h 242354 244300 244276
HEE Pa 122 124 124
R Pa -100 -110 -120
CE8 % 75 72 7.1
iR % 9.2 9.2 9.2
A< E m?/h 312998 315542 315542
A kg/m? 1.1455 1.1454 1.1453
kp - / © o 0.84
SR A mg/m? 2.6 3.5 2.3
UL HE R FE mg/m’ 2.8 3.8 2.5
RIURL A HETIOH 22 kg/h 0.620 0.852 0.571
S = E AR R B mg/m? ND ND ND
—FAL TR OR B mg/m? / / /
ZEABTHROR B (N EED mg/m? /
Z AU 2 kg/h / / /
ZEAHRCER ChRSE) kg/h /
S B AR BE mg/m? 26 24 23
READHTBORE mg/m? 29 26 25
REALDHROREE (MR mg/m? 27
BRENHHBOEZR kg/h 6.30 5.86 5.62
RAENDHROESR CNE{ED kg/h 5.93
Bit T Tﬁﬁ?%ﬁﬁ%:ﬁﬂﬁi%i&jf%#, ﬂzﬁ%ﬁ%%ﬁzﬁzﬁi%: i
2. “ND” RpAfaH, ZHALBAE R A3mg/m?, HERGEZELL “/" FR.
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W A B 2020.1.7
202001018 202001018 202001018
Q2-1 Q2-2 Q2-3
e v m 50
RRJE Pa 101300 101300 101300
JF 38 A T AR m? 23.7583
MR T i) 57 58
SR m/s 13.3 13.0 13:1
PRSI Nm¥/h 787320 767975 773027
) A6 Pa 139 132 135
ik i Pa -120 -60 -80
CE s % 5.8 5.9 5.9
A % 16.3 16.3 16.3
b 3 m3/h 1138999 1111689 1122269
WAE kg/m? 1.1069 1.1076 1.1040
kp / 0.84
SN A ) mg/m? 27 1.6 1.9
IR HE AR mg/m? 27 1.6 1.9
FIURL D HE T8 2 kg/h 2.13 1.26 1.48
S = AR R mg/m? ND ND ND
AL B R AR mg/m? / / /
ZEATRHOREE R ES(ED mg/m? /
0 A 97 BT kg/h / / /
TGRSR VS ES{E) keg/h i
Sl B AL R FE mg/m? 41 38 38
BEMAHEBOR & mg/m? 40 38 38
RELHBOREE (N H{ED mg/m? 39
RE LY HEE = kg/h 32.3 29.2 29.4
RENDHRGESRE (EE) kg/h 30.3
P 1 Tﬁﬁﬁ%&ﬁ_ﬁﬂtﬁﬁl%ﬂﬂﬁ%ﬁ. ERERES SiELhv Y N
2. “ND” #rffat), “EERATER IR 3mg/m?, HERGHREL, “/" FR.
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